‘m‘ Menu

Fluency

Complete these questions.

1. 487 - 90 =
2. = 3705 + 7289 it
3.132+ 11 =
4.307 x 36 =
5.435.7-76.45 =

6.12.7 + 100 =

Week & Day 3

Problem Solving

Pavel chooses a number less
than 40. He divides it by 2 and
then adds 8. He then divides
this result by 4. His answer is
6.5. What number did he

start with?

Reasoning

Place these values in
ascending order.

509 156 4.003 20.03
Explain your reasoning.



‘m‘ Menu Week 4 Day 3

Fluency Problem Solving
Complete these questions. Pavel chooses a number less

than 40. He divides it by 2 and
) - = 307 Ewmlunswar
1. 487 -90 then adds 8. He then divides

this result by 4. His answer is

2. 10 994 |= 3705 + 7289 B 6.5. What number did he
o start with?
36
Reveal answer
3.132+ 11 =12 —
Reasoning

4. 307 x 36 = 11052 Place these values in

ascending order.
5. 4357 - 76.48 = 359.22 509 156 4.003 20.03

Explain your reasoning.
1.56 4.003 5.09 20.03

6.12.7 + 100 = 0.127



